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The 1% period Exam

Class : 3" grade .

I-Composition :

Write a paragraph of no less than 6_Lines about(Advertisments).

I — Comprehension : Read the passage then choose the correct answer:

All over the world, families are getting smaller .In North Africa , in the past, many people lived
in extended families. Fifty to hundred people lived together in a group of houses. These were all
family members- grandparents, aunts, uncles, cousins, children, and grandchildren. But now this
traditional family is breaking into smaller groups .The traditional family in Mexico was also big. One
generation ago, the average Mexican woman had 7 children . Today, she has an average of only 2.5
children. Now , without so many children, families don’t need to spend so much money on basics,
such as food, clothing and housing.

1- the average Mexican woman had Children.
a- 7 b- 8 c- 9

2- These were all family members- .......... .

a- sisters b- grandparents c- brothers
3- Today, she has an average of only children.
a-3.6 b- 2.5 c-4.3

I11- Grammar : Choose the correct answer :
1- We stopped the sunset .
a- watch b- to watch c- watches d- watched
2- He enjoys outdoor activity , and his son
a- doesn’t b- didn't c- does d-done
3- | am facinated traditional stories and books .
a- by c-in d- at
4 — Saeed has been since early this morning
a- drive b- driven c- driving d- drives

VI- VVocabulary: Choose the correct answer ;-

1- concerned with facts only means : (literal _ intimate _ species — over)

2- subject matter is ( masculine _guess _ content - deal with ).

3- Lusia has a lovely.....She's always happy and smilimg.(tedious- sterotype -temperament- older)

4 —QObserve an incident . (restless - gender - witness — convey ).

Good luck

Your teacher




